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The untrained person can hold their breath for 40 seconds with a standard deviation of 10 seconds and it is approximately normally distributed.

Find:

	P(can hold breath 40 seconds or less)
	P(can hold breath between 40 and 50 seconds)

	P(can hold breath 20 to 40 seconds)
	P(can hold breath 30 to 50 seconds)


Find the z score of these people:
	A person who holds his breath 50 seconds:
	A person who holds his breath 55 seconds:

	A person who holds his breath 10 seconds:
	A person who holds his breath 15 seconds:
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Now using the table, look up what percentile these people are:

	A person who holds his breath 50 seconds:
	A person who holds his breath 55 seconds:

	A person who holds his breath 10 seconds:
	A person who holds his breath 15 seconds:
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The average size of an adult lobster is 15.2 inches with a standard deviation of 2.5 inches.

Find the percent of lobsters that are 

	Less than 17 inches 
	Less than 14 inches

	More than 16 inches
	Between 16 and 17 inches

	ADVANCED: Find the middle 50% of lobsters
	ADVANCED: If a lobster is 95th percentile, find how big it would be.


The high temperature for March 6th  is 39 degrees with a standard deviation of 5.


	Find the probability that it will be above 45 degrees?
	Find the probability that the temperature will be between 34 and 44?

	Find the chance that it will be above 50 degrees?
	Find the chance that it will be below 35 degrees.

	ADVANCED:  90% of days are less than what temperatures.
	ADVANCED:  The coldest 10% of days are less than what.0


